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13 %% 3,000 |109/11/02 |4t ¢ rRir% Lipfees|E |- & =
2| %4 5,000 |109/11/02 |A- ¢ PRix % & gt & BB
EgE 5,000 |109/11/02 |4t ¢ rRir% Espfees|E |- & =
4|5 g 26 5,000 |109/11/02 |4t ¢ rRir% Espfees|E |- & =
5|B % 3 1,000 [109/11/02 A ¢ PRix% Lspsees| 8 [- & & =
6|37+ 4, 1,000 [109/11/02 |A ¢ PRix% Lspses| 8 [2 % &~
UEX:ET 300 |109/11/03 |A- ¢ pRix 2 Aupgems|E |- &% 5
8|37 & 300 |109/11/03 |A- ¢ pRix s Aupgees| & |- &% 5
9|3E B % 300 |109/11/03 |A- ¢ pRiax s Aupgees|E |- &% 5
10|38 42 300 |109/11/03 |A- ¢ pRix s Aupgems|E |- &% 5
11| .57 300 |109/11/03 |A: ¢ pRix s Aupgess|E |- &% 5
12 % x« 200 |109/11/03 |A- ¢ pRix s Aupgess|E |- &% 5
13[ R4 f 200 |109/11/03 |A- ¢ pRix 2 Aupgees|E |- &% 5
14] = 3% 41 4 Je » 4,632 |109/11/03 [A- € PRAx2 Lipfers| |- & =
15| %% 41 4, 4z » 10,725 [109/11/03 |4 € PRix 2 Epfeet|R [- & B 2
16[38 73 500 |109/11/03 At ¢ pRix s Aupgems|d |2 %% 5
17)z5 2% » 500 |109/11/03 At ¢ pRix s Aupgems|d |28 % 5
18| #44 B 100 [109/11/04 |4+ ¢ pRix2 Aspsees| 8 [- &~
19] %4t 100 [109/11/04 |4+ ¢ pRax2 Aspsees| 8 [- & &~
20|12 7 & 200 |109/11/05 |A- ¢ pRix 2 Aupgems|E |- &% 5
21|12 & % 400 |109/11/05 [A+ & pRar% Hipfee| . |- &b =
22|+ 700 [109/11/05 |A- g pRax s Agpgess|E |- &% 2
23|25 £ » 100 [109/11/05 |4+ ¢ PRix% Aspsees| 8 [- &%~
24|25 % 100 |109/11/05 |4t ¢ PRAx 2 Aspsres| L |- & &~
25| #% % 48 1,000 [109/11/05 |4 ¢ PRix% Aspees| 8 [- & »
26| 3m 38 B 1,000 [109/11/05 |A+ g PRAx2 Eapfees| 8 [- BB 2
27| & i 500 [109/11/05 |A: g pRix% Lipders| 8 |- &b =
28| x4 500 [109/11/05 |A: ¢ pRix% Lipderes| 8 |- &b =
20|25 % 2» 500 1109/11/05 |4+ € PRAx% E¥pgees|d (- & B =
30[% 2 = 100 |109/11/05 |4t ¢ PRAx 2 Aspsres| L |- &g~
31| & # % 100 [109/11/05 |4+ ¢ PRAx % A¥psces| 8 |- &%
32| & #pAk 100 |109/11/05 |4t ¢ PRAx 2 Aspsres| L |- &g~
33|77 5. 4 300 [109/11/05 |A: g pRix% Lipderes| 8 |- & =
34[3 iR 300 |109/11/05 |At € pRix% Espdees| 8 |- &% &
35| s % 330 |109/11/05 |At € pRix % Espdgees| 8 |- &% &
36| Fh 51 & 5 350 |109/11/05 |it € pRix2% Espdgees| 8 |- &% &
37| e 4k 330 1109/11/05 |At ¢ pRix % Espdgees| 8 |- &% &
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38|k % 4 330 [109/11/05 |4t & pRir2 &gt L |- 4xk =
39[r w0 B 330 [109/11/05 |it g prir s &apgens| L |- 4 g =
MEES 330 [109/11/05 |4t & pRir2 &gt L |- 4nk =
MEER 500 [109/11/05 |4 & pRis2 &gt L |- 4nh =
42] 2 v 100 |109/11/05 |4+ ¢ PRis% A spscet| 8 |- ix® =
43[%* ¢ 8 100 [109/11/05 |4+ ¢ pRis% A spscet| 8 |- iz % =
441 % %r *: 100 [109/11/05 |4+ € pRax2 Apscrs| 8 [- 42 =
454> % 200 [109/11/05 |4t & prir s &apgers| L |- 4 =
46|22 ¥ 200 [109/11/05 |4t & PR 2 &gt L |- 4k =
47|42 % 2 200 [109/11/05 |4t g prir = &apgers| L |- 4 =
48[4 1 3 200 [109/11/05 |4t & pRi% 2 &gt L |- 4k =
9]tk % @ 200 [109/11/05 |4t & pRi% 2 &gt L |- 4k =
50] ik 14 4 » 4,387 [109/11/05 |it & prir s &apgens| L |- 4 =
51| 2k 14 4 » 1,950 [109/11/05 |4 g pris2 &sphees| 8 [- 58 =
H2[1§ £ % 500 [109/11/05 |4+ & pRix% &sfeet| |- g »
53 13 300 [109/11/05 |4+ & prir® &gt |23 B &
54up 13 300 [109/11/05 |4t & pRar® & spdeet| |23 g b
55[3F 0 & 200 [109/11/05 |4+ g pRir 2 Aspgeet| . |[BE B L~
56[2 < 500 [109/11/05 |4t & PRz &gt L |mg b =
57|dn 37 £ 5 10,000 [109/11/07 |4+ g prss 2 &spees| 8 [- 58 =
H8| %13 i 500 [109/11/07 |4t & pRis 2 &gt L |- 4k =
59| % shiz 500 [109/11/07 |4t & pRis 2 &gt L |- 4k =
60[ 5= 2 500 [109/11/07 |4t & pRis 2 &gt L |- 4xdh =
61[%1#F 500 [109/11/07 |4t & PR 2 &gt L |- 4k =
62 J % 2,000 |109/11/07 |4 & pRir 2 &gt L |- dxkh =
63[& & < 1,015 |109/11/07 |4+ ¢ PRis% & spdeet| 8 |- ix® =
64| % 4?(%$F35§r) 1,000 |109/11/07 |4 g PR 2 &apdees| 8 [- 48 =
65[F 3. M3 3. 1P 4 1,000 |109/11/07 |4+ ¢ pRis% &spdeet| 8 |- ix® =
66(% s;z: 1,000 |109/11/07 [A- g PR 2 &apfees| 8 [- 48 =
67 457 # T 3 5k 20,000 |109/11/07 4% & PRA%2 & spsces| 8 |- iz % =
6855 = & 1,000 |109/11/07 |4 g PR 2 &apfers| 8 [- 48 =
69|35 1,000 |109/11/07 [A- g PR 2 &apdees| 8 [- 48 =
7038 2t 1,000 |109/11/07 [A: g PRAs2 &apsees| 8 [- 48 =
M EEYS 1,000 |109/11/07 |4 g pRis2 Aspseet| 8 |- &8 =
72|55 1,000 |109/11/07 |4+ ¢ pRis% &spdeet| 8 |- ixd =
73|zt 500 [109/11/07 |4k & pRix 2 Aspgees| L |- dxk =
EEE: 500 [109/11/07 |4k & pRiz 2 &gt L |- dxk =
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75) e 15 500 [109/11/07 |Ax & PRAx % Aspfees| 8 |- e & =
76[4k - ~ 500 [109/11/07 |A & PRAx % Aspfees| 8 |- e d =
T1lm i 2 500 [109/11/07 |Ax & PRAx % Aspfees|E |- e d =
78|t & 500 [109/11/07 |Ax & PRAx % Aspfees|E |- e & =
CEET 500 [109/11/07 |Ax & PRAx % A spfees|H |- e & =
802 48 22 500 [109/11/07 |Ax & PRAx % Aspfees| |- 4p & =
81|+kza A 500 [109/11/07 |Ax & PRAx % Aspfees| |- 4p & =
82)r = 500 [109/11/07 |Ax & PRAx % A spfees| |- 4e & =
833 > ¢ 500 [109/11/07 |Ax & PRAx % Aspfees| |- 4p & =
84w 1 # 500 [109/11/07 |Ax & PRAx % Aspfees| |- 4p & =
854k 5 & 1,000 |109/11/07 A€ P52 Sapheet| L |- 438 =
86[4k i 2 1,000 |109/11/07 A+ ¢ P52 Saphent| L |- 438 =
87l 3 500 [109/11/07 |A & PRAx % A spfees| |- 4p & =
88|z 2 500 [109/11/07 |Ax & PRAx % A spfees| |- 4p & =
89| 4 2 500 [109/11/07 |t & PRA% % A dpfees| & |- k& =
9045 % = 500 [109/11/07 |t & PRA% % Adpfres| 8 |- k& =
91[4 % & 500 [109/11/07 |A& PRAx % A spfees| |- 4p & =
92| # 44 % 1,000 [109/11/07 [A-g PRix % Lapfers| 8 |- 4p 2 =
93| te 5k 500 [109/11/07 |A& PRAx % A spfees|E |- 4p & =
R 500 [109/11/07 |Ar g PRix 2 Lpfens|E |- 4 d =
95| @ 200 [109/11/07 |Ar g PRix % Lpfens|E |- 4 d =
96| #r 2 200 [109/11/07 |A- g PRAx2 st 8 [- 4nd =
97| 2 m % 200 [109/11/07 [+ € pR7x2 Eapfees|q |- 48 »
98| % m 33 200 |109/11/07 |A+ ¢ pRar2 &spfes| L |- i d =
99 3c 2 300 |109/11/07 |+ ¢ prar2 &spfees| L |- i d =
100] % # = 5,000 1109/11/07 |A- € JRFx% L¥pgees|E [- &% 2
NEEEE: 5,000 [109/11/07 |4+ & PRFx 2 Lipscms| 8 |- 48 2
102] 5% < 2§ 600 [109/11/07 |4+ € PRix% Lspferes| . |- &% 2
103[m & 1% 500 |109/11/07 |A+ ¢ prax2 &spfees| L |- i d =
1045 4 0 500 |109/11/07 |A+ ¢ prax2 &spfees| L |- i d =
1053 2 1,000 [109/11/07 [A-g PRis % Lapfens| 8 |- 4p 2 =
10645 i 3 2 500 |109/11/07 |A+ ¢ prax2 &spfeps| L |- i d =
107[% % ¢ 600 [109/11/07 |t & pRix2 Aspdcet| 8 |23 mpd =
108]3% 3.2 1,000 [109/11/07 [A- ¢ PRix% Espdees| 8 |23 B b ©
109] 5% 55 600 |109/11/07 |t & pR3%2 Lot 8 |BF Hfp s =
10|14 % 2 500 |109/11/07 |it ¢ PRix 3 Lpdees|d  |X B % &
111 8k £ 500 1109/11/07 |4 € PRi%% Lipsees|d |2 %% =
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112(1F+ 2 500 |109/11/07 |ar ¢ prasz dapfens| L [w %2 =
113[% 48 600 |109/11/07 |i ¢ rrssz &ipgem|d |2 %8~
1145 # 600 [109/11/07 |a & pRix2 Aipdens| L |ame =
1154 & = 450 [109/11/07 [ir ¢ rraxz Zapgees| 2 |@appis
116[ 4k #: i 600 |109/11/09 |+ & pRinz Eapgees| 8 [- g #
7[5 % 5 1,000 [109/11/09 |4+ g pRis2 &apsens| 8 |- 4k 2
118 %= % 10,000 |109/11/09 |4+ ¢ pRir2 Eapgees| L [~ i =
119|fe & =+ 1,000 [109/11/09 |4+ € pRir2 Eepfees|q |- 48 »
120[2 % % 1,000 [109/11/09 [+ ¢ mrsrz &apker| L |@dpp s
121|m % ¥ 15,000 |109/11/10 |+ ¢ pRir2 Eapgees| L [~ i =
122| g 2 5 1,000 [109/11/10 [+ ¢ prss2 &spker|d |- 42 =
123[% # " 1,000 [109/11/10 [+ g PRis2 Lapsees|E |- i #
124[ 4k T o 1,000 [109/11/10 [+ g PRis2 Lapees|E |- i #
1254k % & 500 [109/11/10 |Ar g pRis2 Espdens| g |- 48 =
126[1+ % £ 500 [109/11/10 |it ¢ pRasz Lapgees| 8 |- i =
127|112 F 500 [109/11/10 | ¢ PRix % Adpdest| L |- &8 =
128| %]~ i= 500 [109/11/10 |it ¢ pRasz Lapgees| 8 |- i =
1291+ % & 500 |109/11/10 |it ¢ pRis3 Aapgees|q |- 48 =
130[m & 500 [109/11/10 |Ar g PRis2 Espdens| g |- 48 =
131]t+ % % 500 [109/11/10 [Ax ¢ rRir% L¥pfees| & [ &b~
1325182 500 [109/11/10 |Ar g PRix2 Espfens| g |- 48 =
133[3 223 500 [109/11/10 |ir g PRis2 Espfens| g |- 48 =
134| %% % 500 [109/11/10 |it ¢ pRasz Lapgeres| 8 |- i =
135[2 st 500 [109/11/10 |ir g PRFx2 Espdens| g |- 48 =
1361+ % % 500 [109/11/10 |t & PRA% % A ¥pfres| 8 |- & & =
137[L =% 500 [109/11/10 |ir g PRix2 Eapdens| g |- 48 =
138 %def £%ir3 2 @ 10,000 |109/11/10 |+ ¢ pRirz Eapgees| L [~ i
139[4§ 545+ 1,000 [109/11/10 [+ ¢ prss2 Laphees|d |- 42 =
1404t 4% 500 [109/11/10 |Ar g pRix2 Espdens| g |- 48 =
141[3E4r # 2,000 |109/11/10 |4+ ¢ PRix2 Lipsens| L [ 4 2
142[57 3. 4 300 |109/11/10 |a+ ¢ prasz Lspfens| 8 |- 4 s =
1431+t % 1,000 [109/11/10 |4 ¢ prixs Lspsee4| 8 |93 Bom s =
144)% % ~ 200 [109/11/10 |4+ & pRis 2 Lipfens| L | & 2
145| 88 ~ 5,000 |109/11/11 |a ¢ pRirz Eapgens| 8 [- i =
146| = % % & 5,000 |109/11/11 |4+ ¢ pRisr2 LAipfers| . |k d =
147| 3 AR & 500 |109/11/12 |A+ ¢ pRax2 Aspfees| L |- i d =
148|rh #1t, 1,100 [109/11/12 [+ g PRis® Lapfems| 8 |- 4p 2 =
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149|z ~ 2L A& ¢ 5,000 [109/11/12 |i+ ¢ prss2 Lapgees| 8 |- 4 =
150| i 2 i 500 [109/11/12 |A- g pRFx2 Aipgers| 8 [- 48 =
151 & * 500 [109/11/12 |A+ g pRsx2 Aipgers| 8 |- 48 2
152) & &= 915 [109/11/12 |4+ € PRAx% &ipscns| L i g 2
153 % # 2= 500 [109/11/12 |A+ g pR5x2 Aipgers| 8 |- 48 =
154|3F % % 500 [109/11/12 |A+ g pR5x2 Aipgers| 8 [- 48 =
1554 & = 215 [109/11/12 |A+ g pR5x2 Aipgers| 8 |- 48 =
156|722 40 & 1,421 [109/11/12 |i+ ¢ pRix2 Lspsees| 8 |2 2% »
157|% 7 & 30,000 [109/11/13 |4+ ¢ prisz Lpens| 8 |- 42 =
158]+k 1 7 30,000 [109/11/13 |4 g prisrz Lpees| 8 |- 42 =
159| #% 4 4+ 2,000 [109/11/13 |A+ g pRse2 Lipgers| 8 |- 48 =
16035 ph 5 2,000 [109/11/13 |A+ g pRsx2 gt 8 |- 48 =
161|387 1% 2,000 [109/11/13 |A+ g pRsx2 Lipgers| 8 |- 48 =
162|358/ & 2,000 [109/11/13 |At g pRsx2 Lipgers| 8 |- 48 =
163|% Feip 300 [109/11/13 |A+ g pRsx2 Aipgers| 8 |- 48 =
164]:£ % 5% 300 [109/11/13 |A+ g pRsx2 g8 |- 48 =
165] % rx# 500 [109/11/13 |A+ g pR5x2 Aipgers| 8 |- 48 =
166] % i@ # 500 [109/11/13 |A+ g pRsx2 Aipgers| 8 [~ 48 =
167] %" 5 2 100 [109/11/13 |+ € PRAx % Sipsens|E |- 4% =
168 % 5754 100 [109/11/13 A € pRax2 Aspers| 8 [- 42 =
169 #* 43 100 [109/11/13 |a+ € PRAx % Sipsers|E |- 4% =
170] " i fe 100 [109/11/13 A € pRix2 Aspers| 8 [- 42 »
171 %% 14 fe» 1,463 [109/11/13 |4+ € pRix 2 &ipsers|f |- 42 =
17248 < & 500 |109/11/13 |A- ¢ rRix2 ik |RF & =
173 % 1.4 fe» 2,438 [109/11/16 |it g pRse2 Lipgers| 8 |- 48 =
174|r e £ 1,000 [109/11/17 |+ € pRix 2 &ipsens| g |- 42 =
15| = 2 &% ¢ 5,000 [109/11/17 [A € rrix2 Lipfers| |- 42
176 % ¥ & 500 |109/11/17 |A- ¢ pRix 2 g8 |- 48 2
177) % 5 4 500 |109/11/17 |A- ¢ pRix 2 g8 |- 48 2
178 % & #* 500 [109/11/18 |4+ € PRA%2 L ifers|E |- 4 =
179|1% o & 5,000 [109/11/18 |At g pRse2 Aipgers| 8 |- 48 =
180] % 4 A 500 |109/11/18 |A- ¢ pRix 2 Lapfees| 8 |- 48 2
181]% sc & 200 |109/11/18 |A- ¢ pRix 2 g8 |- 428 2
182|% &£ & 200 [109/11/18 [it & rRix% Lspgers| 8 |- &~
183|147 & %= 100 |109/11/18 |4t ¢ PRz % Edpfers| 8 |- 4% =
184 % 1% ~ 1,000 [109/11/18 |4+ € prirz Lipfers| 8 |- 48 =
185 A 7 1,000 |109/11/18 |+ & PRix% &¥psees| £ |- 4%
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186 77 % & 1,000 |109/11/18 |4+ ¢ PRAx2 Epfers| 8 |- 43 =
1874 &% 1,000 [109/11/18 [A g prirz Lapseet| 8 |23 Bpd @
188| g ¥ iE 5,000 |109/11/18 |a ¢ pRirz Lipsens| |2
189[4k %2 % 5,000 [109/11/18 |i g pR5x2 Lipgem|d |3 %8~
190 ®oe ¥ 1,000 [109/11/19 [i+ ¢ mrss2 &apker|d |- 42 =
191 [P 200 [109/11/19 |ir g PRis2 Lapdens| g |- 48 =
192[3 £ & 200 [109/11/19 |ir g PRix2 Lapfens| g |- 48 =
193[2 =% % 1,000 [109/11/19 [i+ ¢ mrss2 &spker|d |- 42 =
194|m 5 7 1,000 [109/11/19 [i+ ¢ mrssz &spker|d |- 42 =
195| Bk ¥ 10,000 |109/11/19 A ¢ pRir2 Eapsees| L [~ i =
196) 3 — 4% 30,000 [109/11/19 [A+ ¢ pRar2 Lepfees|® [ & =
1975 % ir 30,000 |109/11/19 | ¢ fRix% &spdees| L [- ixd =
198| ¥ 4 i 30,000 |109/11/19 |A+ ¢ pRFx2 Lpfers|E |- 4 =
199[ 2 ¥ 30,000 [109/11/19 [i+ g prAs2 Lapkers| g |- 48 =
200 %+ 20,000 [109/11/19 [ir g pRAx2 Lapgers| 8 |- 4% =
201 4% 20,000 [109/11/19 [i+ g pRAx2 Lapfers| 8 |- 48 =
202|2 = B 20,000 [109/11/19 [ir g pRAx2 Lapfens| 8 |- 48 =
203| ¥ i= 4% 20,000 [109/11/19 [ir g prax2 Lapgens| g |- 4% =
204|327 4 i 1,000 [109/11/19 [i+ ¢ mrss2 &apker|d |- 42 =
2050 & & 300 [109/11/19 At g pRis2z Lapkens|E |2 % & =
206|r £ # 300 [109/11/19 it g pRisz Lapfens|E |2 % & =
207) 5+ P 6,000 [109/11/20 |4+ ¢ prss2 Lipdgees| 8 |- 4 =
208| % i 1,500 [109/11/20 [+ ¢ prss2 &apkers|d |- 42 =
209] % i f1 4 4z » 5,850 |109/11/20 |+ ¢ pRirz Eapgees| L [~ i
210| & 4t 3,000 |109/11/20 |+ ¢ pRirz Eapgens| L [~ i
211| 5% 7% 4 1,000 |109/11/21 |A+ € PRFx2% Lfens|E |- 4 =
212|% % 7 20,000 |109/11/21 |A- g PRFx2% Leifers|E |- 42 =
213|2 & 1,000 [109/11/21 [4+ ¢ PR32 &iphems|® |- 4% =
214[77 5. 4 300 1109/11/21 |a ¢ ppasz Aspgens| 8 |- s =
215| 4 o % 1,700 [109/11/21 [4+ ¢ PR32 &iphens|® |- 4% =
216|431 & % 1,700 [109/11/21 [4+ ¢ PR32 &iphems|® |- 4% =
217|575 4 1,500 [109/11/21 |4 ¢ prixz Lpens| 8 [ 42 =
218|454 % 100 |109/11/21 |4+ & PRAx2 Lpscrs| L [ 48 2
219[4 R 100 |109/11/21 |it & pRir2 Eapsces| 8 [ e 2
220|145, # 100 |109/11/21 |At € pRir2 st [ 428 2
2214 % #% 100 |109/11/21 |4+ & pRix2 Lpscrs| L [ 4 2
202|454 4 100 1109/11/21 |4+ & pRix2 Lpsers| L [ 4 2
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223 ﬁa;—,a 100 [109/11/21 |4+ € PRAx2 Agpsces| 8 |- 48 =
224 |tk 3 100 1109/11/21 |4+ & pRisz Aapsens| L [- 4
225|%k X 4Lr 100 [109/11/21 |4+ & praxz Lspgees| 8 |- 52 »
226|# % 100 [109/11/21 |4+ € PRAx2 Agpees| 8 |- 48 »
227 g & 100 [109/11/21 |4+ € PRAx2 Agpsees| 8 |- 48 »
228|F Y ¥ 100 1109/11/21 |4+ & pRisz Aapgens| L [- i =
229 FR = 100 [109/11/21 |4+ € PRAx2 Aspgees| 8 |- 48 »
230|®c 4 2 300 [109/11/21 |ir g prAsz &ipdees| 8 |- 4 =
231)5% F 7 1,500 [109/11/21 |4+ € pRix2 Egpees| 8 |- 4% =
232|3% = {v 1,500 [109/11/21 [4+ & prisz Aspgems|q |- 4 & =
233|124 & 1,500 [109/11/21 |4+ € pRix2 Egpees| 8 |- 4% »
23458 L 5 1,500 [109/11/21 |t ¢ pRix2 &spgees| 8 |- & #
235|1 g 3 2,000 [109/11/21 [+ g pRix2 Lipsems| 8 [ 48 2
236 i 7 3 1,000 [109/11/21 [+ € pRarz Lepfens|q |- 48 »
237 4% * 100 [109/11/21 |4t ¢ pRax% Aspgees| 8 |- & #
238|m & ¥4 100 [109/11/21 |4+ € PRAx% Agpgees| 8 |- 48 »
239| 73+ & 100 [109/11/21 |4+ € PRAx2 Agpgees| 8 |- 48 »
240| 7 F = 100 [109/11/21 |4+ € PRAx2 Agpgees| 8 |- 48 »
241 3 100 [109/11/21 |4+ € PRix% &ipsens|E |- 4% =
2421 5% 100 [109/11/21 |4+ € pRA+2 Agpgees| 8 |- 48 »
243| ¢ & A 100 [109/11/21 |4+ € pRAx2 Agpgees| 8 |- 48 »
244 | % v 100 [109/11/21 |4+ € PRAx% Agpgees| 8 |- 48 »
245| 58k 5F 100 [109/11/21 |4+ € pRA+2 Agpgees| 8 |- 48 »
246| %% % 100 |109/11/21 |a € PRAx2 Lspgems|E |- 8% &
24T\ =% 47 100 1109/11/21 |4+ ¢ pRasz Aapgers| L [- i
248|% I iF 500 [109/11/21 |4+ € pRarz & ipfers|d |- 4 & =
249 & 1% 10,000 |109/11/21 i+ ¢ pRirz Eepgees| L [- i
250| 1t 5 & 10,000 [109/11/21 |i+ g PRA%x% Eipdees| 8 |- % & =
;g; *iiﬁ{;i 1 é(l](l] }09/11/21 gt kil L [93 his -
o3[ A ,500 189/11/21 a‘}_g Pfsz}»i %;F,{(;(Eé 2 |weimpd -
‘ 9/11/21 [A ¢ sz Lapher|d |32 =
254+ § 500 [109/11/21 |ir g pRisz Lapfens|E |2 %% =
205| % I 4% 1,000 [109/11/23 |4+ & pRix% Lspsces| 8 |- 4% #
256 % 2 % 1,000 [109/11/23 |+ € PRix2 Lgpsens| R |- 42
257| th &7id 20,000 [109/11/23 [ir g praxz Lapfers| g |- 48 =
298| ¥[34 % 2,000 1109/11/23 |4+ ¢ PR7x2 Eipfers| 8 |- & =
209|A1MF & 4t 2,000 |109/11/23 |4t ¢ PRFx2 Lipdees| 8 |2 & 2
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260( - % 1,800 |109/11/25 [i+ & pRix2 Lipkees| L |- 48 =
261 [ 1% 4 1,800 |109/11/25 |4+ & pRix2 Lipkees| L |- 48 =
262| 3 % 5% 3,000 [109/11/25 |t ¢ pR3x2 &ipgem|q |- 48
2632 4n ¥ 1,500 |109/11/25 |4+ & pRix2 Lipkees| L |- 48 =
264| % W iF 600 |109/11/25 |4+ & PRix2 &Lipsens| 8 |- 48 2
265|544 i 600 |109/11/25 |it§ PEFs2 &dpfees| 8 |- 4xd =
266| % 3 % 500 [109/11/25 |ir g pRis2z Lapdens|E |- 48 =
267)% = #° 500 [109/11/25 |it ¢ pras2 &ipdees| 8 |- 4 =
268[:% 2. i 500 [109/11/25 |a+ & pRAs2 gt |- 4 & =
269 Fh 47 500 |109/11/25 |4+ ¢ prix2 &apfens| L |- 48 =
270(2 40 &3 1,500 |109/11/25 [i+ € pRix2 Eipkess| L |- 48 =
271 |5 g7 350,000 |109/11/25 |4+ & pRA%% Eipsre| L |t £ > F4B
272[3r % h 400, 000 [109/11/25 |4+ & PRF% % Edrsems |8 35 A > 746
213| 9 2% 5,000 [109/11/26 |At g pRix2 Lipgers| 8 |- 48 =
274|% ¥ & 1,000 [109/11/26 |4+ € pRix2 &ipscrs|f |- 4% =
275k £ 1,000 [109/11/26 [ir g pRis2 Lapees|E |- i »
276|144 & % 73 1109/11/26 |4t ¢ prixs Lspgees|d |- & =
277|812 500 |109/11/26 |4+ ¢ pRax2 &apfens| R |- 48 =
278| M it 500 |109/11/26 |4+ ¢ pRax2 &apfens| L |- 48 =
279 Ft &7-4 500 |109/11/26 |4+ ¢ pRax2 &apfens|E |- 48 =
2802 % = 500 |109/11/26 |4+ ¢ pRax2 &apfens| L |- 48 =
281) 5 223 500 [109/11/26 |4 & pRisz Aipdens| 8 |- 48 2
282|Fh % v 4,000 [109/11/26 |4+ & pRirz Lapgems|8 [~ 4 & 2
283| % = & 10,000 [109/11/26 |4+ PR3%2 &Lipscms| 8 |- 48 o
284[% it 375 1109/11/26 |+ ¢ pRasz Aspgens| 8 |- i =
285[% F % 375 |109/11/26 |4+ ¢ pRax2 &apdens|® |- 48 =
286|% 45 375 |109/11/26 |4+ € pRix2 &apfens| L |- 48 =
287[% i 375 |109/11/26 |4+ ¢ pRix2 &apfens| L [- 48 =
288|384 i 500 |109/11/26 |A+ € prix2 &apfess| L |- 48 =
289(zF 4 & 500 |109/11/26 |4+ € pRix2 &apfens| L |- 48 =
290(2 % ¥ 500 |109/11/26 |A+ ¢ pRir2 &apfess| L |- 48 =
291 [z7 2 & 200 |109/11/26 |A+ ¢ pRir2 &apfens| L |- 48 =
292|538 % AM(FALH) 100 [109/11/26 A€ PRax2% Lspees| 8 [- 4 & =
293| g At i3 100 [109/11/26 |t PRFx 2 Lipscms |8 |- 48 2
294|2 § % 500 |109/11/26 |A-¢ pRix2 Lapfees| 8 |- 48 2
295|¥f =5 100 [109/11/26 |4+ ¢ prix2 Lipsee| 2 [23 Bp & 2
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296 fj_?méii;;; 8,000 [109/11/27 |4t ¢ PRis2 &ipsces| 8 |- 4 & 2
297| R fF 100 [109/11/27 |+ € pRix % Lipsens| R |- 42 =
298| 4t P 100 [109/11/27 |+ € pRix % Lapsens| . |- 42 =
2098 F & 100 [109/11/27 |4+ € pRix % &ipsers| . |- 4% =
3004 '8 100 [109/11/27 |+ € PRix 2 Lipsens|E |- 4% =
3014 ' 100 [109/11/27 |+ € PRix % Lipsers| . |- 4% =
302 iF ik 100 [109/11/27 |4+ € PRix % Lipsers| . |- 4% =
303| e 2 4 100 [109/11/27 |+ € PRix % Sipsers|E |- 4% =
304):% i % 100 [109/11/27 |+ € PRix % Lipsens|E |- 4% =
305X % % K 100 [109/11/27 |+ € PRix % Lipscns|E |- 4% =
306 % = &+ 500 |109/11/27 |A- ¢ pRix 2 g8 |- 48 2
307) = + T2 50 |109/11/27 [+ ¢ pRir 2 Lapkens| |- 48 =
308) = + F# 50 |109/11/27 [+ ¢ pRir 2 Lapkens| |- 48 =
309 3§ E[E 50 [109/11/27 |+ & PR332 Lpfces| 8 |- 4% =
3104 gk 4% 10,000 [109/11/27 |A+ ¢ pRsx2 Lipfers| 8 [- 42 =
311|gE= & 1,000 [109/11/27 |4+ € pRix 2 &apsers|E |- 4% =
312|4f £ 160 [109/11/27 |a+ € pRix2 Sepsens| L |03 Had =
13| FAE 7 74 1109/11/27 [A € pRar2 Lipfens| R |2 % E 2
314|3% % (AT ) 74 1109/11/27 [A g pRix2 Lapker|d |2 %2 2
315| ¥ e 5 2,000 [109/11/30 |At g pRse2 Lipgers|® |- 48 =
316|385 2,500 [109/11/30 |i+ ¢ pras2 &ipdgens| 8 |- 4 =
31T 5RdF & 1,000 [109/11/30 |4+ ¢ pRix2 &ipsers| g |- 4% =
318|7F % 250 [109/11/30 |4+ € PRA%2 L ifers|E |- 4 =
3194k 2 % 250 [109/11/30 |At g pRs%2 Lipgers| 8 |- 48 =
320|172 % K 12,500 [109/11/30 |4+ ¢ pRsx2 gt ® |- g =
321 m# % 350 [109/11/30 |At g pRs%2 Aipders|® |- 48 =
322| M 4= 1= 330 [109/11/30 |At g pRs%2 Aipgers| 8 |- g =
323 | Pt T 330 |109/11/30 |A- ¢ pRix 2 Lapgees| 8 |- 4% 2
324| I T ik 330 [109/11/30 |At g pRs%2 Lipders|® |- g =
325|423 # 330 [109/11/30 |At g pRs%2 Aipgers|® |- g =
326|m % £ % 330 [109/11/30 |At g pRs%2 Aipgers| 8 |- 48 =
327) s e 400 [109/11/30 |At ¢ pRax2 Lipferes| 8 [- g =
328|ik1c % 400 1109/11/30 [At¢ PRix%2 Lipgees| 8 [- & & =
329|872 % 400 [109/11/30 [A- ¢ pRix2 Lipfees| 8 [- 42 d =
330|#%i% & 400 [109/11/30 [+ ¢ pRaez Lpers| 8 |- & =
3318 % 400 [109/11/30 |4+ ¢ pRix2 Lipfees| 8 [- 428 =
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332[% &% 1,500 |109/11/30 [ar ¢ rpasz Eapgens| L |- 43 #
333[m & % 500 [109/11/30 |A+ & pRA%2 Aapfens| 8 |- 4 & =
334[m s & 500 [109/11/30 |A+ & pRAx2 Eipfens| 8 |- 4 & =
335| % 7H 500 [109/11/30 |i+ g PRix2 Zipdens| 8 |- 48 =
336[zr 2 2 500 [109/11/30 |i+ & pRAx2 Eipfens| 8 |- & =
337[% T 500 [109/11/30 |at & mraxs apgees|q |- i =
338+ F & 500 [109/11/30 |A+ & pRA%2 Aipfens| 8 |- 4 & =
339[iE kT 4 1 P 1,000 |109/11/30 [i+ & pRix2 Eipkess| L |- 48 =
340[ =% 114 4 1,706 |109/11/30 [i+ & pRAx2 Eipkess| L |- 48 =
341[ =% 114 2 1,219 |109/11/30 [i+ & pRix2 Eipkess| L |- 48 =
342[ =% 114 2 4,632 [109/11/30 |4+ ¢ pRirz Lapgems|8 [~ 4 & 2
343[ 5% & % 2,500 [109/11/30 |4+ ¢ PRir2 Lipsee|E [03 Bp s ©
34[& & =% A4 [109/11/30 |i- g mRirz apsens| . |Bp B H L =
345| R £, 2,500 [109/11/30 |4+ ¢ pRir2 Lipsem|d [2 % &
346|#m:x % 2,500 |109/11/30 |4+ ¢ FR3%2 Aipscrs| 2 i s =




